
 

 

sfnLsf gu/kfnLsf sf] Ps kl/ro M @)&$ 

lrtjg lhNnfsf] k'j{ tkm{ /x]sf] sfnLsf gu/kfnLsf ljleGg hghftL, efiffefifL, wd{nDjL j;f]jf; u/]sf 5g\ . 

o; gu/df kxf8L If]q b]lv leqL dw]zsf :yfgdf /x]sf] 5 . clwsf+z e"—efu d}bfgL eP tfklg s]xL clt ljs6\ 

/ kxf8L If]q klg kb{5g\ . cGo gu/af6 a;fO{;/fO{ u/L cfPsf clwsf+z hgtfx¿ eP tfklg ljsf;sf] qmddf 

lk5l8g k'u]sf cflbjf;L r]kf , b/fO{, s'dfn hfltx¿ klg k|z:t} /x]sf 5g\ . 

 gu/sf] kl/ro lbg] p2]Zon] ul/Psf] xf] . o; lrgf/Lsf] af/]df s'g} l6Kk0fL tyf ;'emfjx¿ eP ;"rgf, { 

pknAw u/fO{ ;xof]u ug'{'x'g >4]o kf7s ju{xnfO{ xflb{s cg'/f]w ub{5f}+  . 

 

l;dfgfM k"j{  M /fKtL gu/kfnLsf 

  klZrd M e/tk'/ dxfgu/kfnLsf 

  pQ/ M O{R5fsfdgf uf+pkfnLsf / wflb8= 

  blIf0f M /Tggu/, v}/xgL / /fKtL gkfx? 

 

If]qkmn M !^(=$( ju{ lsnf]dL6/ 

qm; ;fljs uflj; If]qkmn ju{ ls 

ld  

1 zltmvf]/ 28=94 
2 l;l$ 94=03 
3 kbdk'/ 29=47 
4 h'^kfgL 17=05 
 

 

 

/fhg}lts ljefhgM 

 lgjf{rg If]qM#,  O{nfsfM!, $ / %, uf=lj=;=M# 

 

hg;+Vof   

qm; ;fljs uflj; hg;+Vof j[l4 

b/ 

hg3gTj 3/w'/L ;fIf/tf 

k|ltzt  

ul/lj 

k|ltzt dlxnf k'?if hDdf 

1 zltmvf]/ 4821 4597 9418 2=39 28=98 1909 43=41 31 
2 l;l$ 1936 1891 3827 1=31 93=34 651 30=17 58 
3 kbdk'/ 7820 7104 14924 2=90 506=41 3231 100 10 
4 h'^kfgL 7698 6626 14324 1=21 840=12 3325 100 6 
 hDdf  22275 20218 42493 1=95 367=21 9116 68=47 26 
 

v'nf d'tm If]q 3f]if0f e} ;s]sf] .  

l;dfgfM k"j{  M /fKtL gu/kfnLsf 

  klZrd M e/tk'/ dxfgu/kfnLsf 

  pQ/ M O{R5fsfdgf uf+pkfnLsf / wflb8= 



  blIf0f M /Tggu/, v}/xgL / /fKtL gkfx? 

jf8 cg';f/sf] hg;+Vof 

xfnsf] 

j8f 

;fljs j8fx? hDdf 3/w'/L  hDDff hg;+Vof dlxnf  k'?if  s}lkmot 

! * &%$ ##^^ !&** !%&* k'gZoM@)^* 

sf] hg;+Vof 

nfO{ ;fljs 

uf=lj=;=jf 

gu/kflnsfsf] 

hg;+Vof 

a[l¢¢/ 

!=(%%  
cg';f/ 

cWofjlw ul/ 

o; ljj/0fdf 

/flvPsf] 5 . 
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!! l;¢L !, #, $, 
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hDdf  

*(!^ $@$(# @@@&% @)@!* 

 

%= k5f8L k/]sf hg;+Vof ljj/0f -cNk;+VoLs, nf]kf]Gd'v, hghftL, blnt _ 

sfnLsf gu/kfnLsf nf]kGd'v hftL -r]kf8=, sf]O{/L, sfg' _  M !^(( hgf -$ k|ltzt _                  

hghftL M  @)*## -$( k|ltzt _                   blnt M @%@^ hgf -^ k|ltzt _   

cGo M  !&$#$ -$! k|ltzt _               

 

^= z}lIfs cj:yf -sn]h, dfjL, lgdfjL / k|flj_  

hDdf ljwfno M  %) -;fd'bflos M #*, ;+:yfut M !@ _               sn]h M @  

pRr df=lj= M ;fd'bflos #                                         df= jL=  M * -;fd'bflos @, ;+:yfut M ^_      

 lg=df=jL  M ( ;+:yfut ljwfno                                    k|f=lj= M #)   -;fd'bflos @$,  ;+:yfut M ^_   

     

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

60 jif{ eGbf dflysf] hg;+Vof ljj/)f . 
h'^kfgL  

k'?ifM–648 hgf ,47=16% 

dlxnfM–726hgf,52=83% 
 
kbdk'/ 
 
k'?ifM–616 hgf,50=28% 
dlxnfM–609 hgf49=71% 
 
 
zlStvf]/ 
k'?ifM–1162 hgf,43=84% 
dlxnfM–1488 hgf,56=15% 
 
 
l; L 
k'?ifM–789 hgf 35=17% 
dlxnfM–1454 hgf 64=82% 
 
 
14 jif{ eGbf tnsf] h+g;+Vof  
 
h'^kfgL  
s]^fM–2153 hgf,51=12% 
s]^LM– 2058 hgf,48=87% 
 
kbdk'/ 
s]^fM– 2430 hgf,50=46%s]^LM–2385 hgf49=53%  
 
zlStvf]/ 
s]^fM–1782 hgf,51=22% 
s]^LM–1697 hgf,48=77% 
 
l; L  
s]^fM–782 hgf,49=55%  
s]^LM–796 hgf,50=44%  
 
 



 
juL{s/)f ;lxtsf] hfltut ljj/)f 2068  
 s|=

;= 

;fljs 

uf=lj=

;= 

blnt 
k|ltzt 

hghfl

t 

k|ltzt nf]kf]Gd'v 

hflt 

k|ltz

t 

cGo k|ltzt 

1= kbdk'/ 608 hgf  4=07% 9982 
hgf 

66=88% 385 hgf 2=57% 3949 hgf 26=46% 

2= h'^kfgL  1120 
hgf 

7=81% 7090 
hgf 

49=49% 30 hgf 0=20% 6044 hgf 42=19% 

3= 
zlStvf]/ 617 6=55% 6761 

hgf 
71=78% 12 hgf 0=12% 2028 hgf 21=53% 

4= 
l; L  54 hgf 1=41% 3761 

hgf 
98=27% – – 12 hgf 0=31% 

 
 lgl:s[o hg;+Vof  

 s|=;= 
;fljs 

uf=lj=; 
afns  

 

k|ltzt 
aflnsf 

 

k|ltzt  

1= 
kbdk'/ 2430 

hgf, 
50=46% 

 2385 hgf 49=53% 

2= h'^kfgL  2153 hgf 51=12% 2058 hgf 48=87% 

3= zlStvf]/ 1782 hgf 51=22% 1697 hgf 48=77% 

4= l; L  782 hgf 49=55% 796 hgf 50=44% 

60 jif{ eGbf dflysf] lgis[o hg;+Vofsf] ljj/)f  
 

 s|=;= 
;fljs 

uf=lj=;= 
dlxnf  k|ltzt k'?if  k|ltzt  

1= kbdk'/ 609 hgf 49=71% 616 hgf 50=28% 

2= h'^kfgL  726 hgf 52=83% 648 hgf 47=16% 

3= zlStvf]/ 1488 hgf 56=15% 1162 hgf 43=84% 

4= l; L  1454 hgf 64=82% 789 hgf 35=17% 

 
 

 

 



 


